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Perpendicular Bisector Theorem: If a point is on the perpendicular bisector of
a segment, then it is equidistant from the endpoints of the segment.

Point C is on the perpendicular bisector. Prove that o
C is equidistant from the endpoints of AB.

Given: CP L 4B : CP bisects 48 at P

Prove: AC=BC
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" Converse of Perpendicular Bisector Theorem: If a point is equidistant from the
endpoints of a segment, then the point is on the perpendicular bisector of the segment

Proof of the Converse of Perpendicular Bisector Theorem:

Given: AC = CB
D isthe mldpomt of AB
Prove: CD isthe perpendicular bisector of AB
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